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yazt 13,563.0  1,026.5 262.0  9,554.3 922.5 7,166.5 1,465.3 1,675.3  1,040.0 5.0 75,543.0 10,746.0 85.08 87.48
ZALH T AR 2,690.3 183.5 73.0  1,970.5 155.0  1,469.0 346.5 325.8 134.5 3.0 19,350.5 1,869.5 85.81 91.66
AR T AR 930.8 69.0 15.5 654.5 95.5 433.0 126.0 115.8 74.0 2.0 4,571.0 740.5 84.97 85.65
Bk AR 1,800.8 123.0 45.5  1,168.0 172.0 907.5 88.5 256.8 207.5 - 8,547.0 1,381.0 81.98 85.81
PR T 7ERE 1,108.0 70.0 23.5 821.5 76.0 558.0 187.5 133.0 60.0 - 5,958.0 926.5 86.07 86.02
BT T R 531.8 41.0 14.0 407.5 35.0 236.0 136.5 61.8 7.5 - 2,000.0 361.0 86.84 84.70
B SR T AR 2428 19.0 7.5 190.5 13.0 128.5 49.0 25.8 - - 1,224.5 194.0 88.09 86.32
=i )5 AR 1,613.5 145.5 22.5 1,168.5 113.5 858.0 197.0 156.5 120.5 - 8,142.0 1,337.0 88.19 85.64
FERE T AR 241.5 28.0 - 141.0 10.0 127.0 4.0 28.5 44.0 - 997.5 188.0 83.19 83.96
LM T R 480.3 53.5 8.5 365.0 24.0 212.0 129.0 35.8 18.5 -1.0  2,251.0 397.5 91.08 85.10
T T AR 206.3 21.0 2.5 141.5 10.0 121.5 10.0 25.8 15.5 - 1,274.0 194.0 84.60 86.62
EEMIT AR 359.5 39.5 1.0 235.0 12.0 218.0 5.0 52.0 32.0 - 1,927.0 288.0 81.88 87.16
2T ER 912.8 76.5 13.0 684.3 60.5 506.5 117.3 116.5 22.5 - 4,628.0 820.0 85.45 84.22
e T R 997.5 50.5 9.5 665.5 54.0 604.5 7.0 152.5 119.5 - 5,046.0 645.0 81.36 88.41
TEUE N 7 2R 176.0 17.0 2.0 109.5 21.5 88.0 - 16.5 31.0 - 2,350.0 337.0 86.90 86.47
BRI 92.3 2.5 1.0 75.5 - 63.0 12.5 7.3 6.0 - 523.0 90.5 91.24 83.37
R T AR 306.8 24.5 8.0 175.5 21.0 143.0 11.5 53.8 45.0 - 1,797.0 278.5 76.55 86.31
EE T ER 116.3 13.5 2.0 85.0 6.0 65.5 13.5 8.8 7.0 - 396.0 95.5 90.67 79.80
L TT AT 234.3 15.0 5.0 170.5 10.0 158.5 2.0 32.3 10.5 1.0 906.0 178.5 84.09 82.51
E M T R 251.8 16.0 3.5 150.5 18.0 132.5 - 40.3 41.5 - 1,09.0 209.5 78.90 82.66
Rl 7 AR 248.0 17.5 3.0 159.0 15.5 121.0 22.5 26.5 42.0 - 2,39.0 183.5 85.71 93.20
B T AR 22.3 0.5 1.5 15.5 - 15.5 - 3.8 1.0 - 162.5 31.0 80.52 82.15
7 AR IR (%) 1.88 -3.43 -7.0 1.46 10.61 -2.32 17.64 3.76 11.53 25.00 4.35 1.91 -0.28* 0.19*
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